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Hh B Xz 487H 58118 6H6H 7H5H 8H4H 9H6H 10828 | 11818 [ 1218 | 1A10H 2818 3818 - s
L lag = D = = 2 = = 2 2 v = HE waE |
5 BB 11:20 11:20 11:00 10:45 11:00 11:20 11:04 10:55 10:45 11:05 11:35 10:05 — —
SR (°C) 20.7 21.2 22.7 29.3 34.3 31.8 24.5 22.6 10.4 11.2 15.2 12.9 21.4 —
K:E(°C) 18.9 21.3 22.3 27.3 31.3 29.8 24.5 20.4 145 12.0 13.5 12.9 20.7 —
BRE (cm) 45 65 20 65 65 75 65 75 50 90 55 40 59 —
s e BEREGE|BRGEL| BRERE[BEGER| KEEE |BREGEC(BRESRE|BREER| KEKE |BRERE| KEKE | KEKE — —
= |BX JIER MR me WMIER | #EHE WER e WER WER MR MEE |mE — —
j'ﬁ pH 7.2 7.3 7.3 7.1 7.1 7.3 7.8 7.4 74 7.6 7.1 7.2 7.3 6.5~85
* DO(mg.”L) 6.4 48 5.9 5.4 5.2 40 6.0 5.9 6.2 6.3 6.6 7.4 5.8 5001 F
= |BOD(mg.“L) 28 1.9 3.6 2.3 3.3 2.2 24 1.3 1.4 1.1 1.1 1.3 2.4 50LLF
" 1CcOD(mg. L) 5.6 5.6 49 44 5.9 5.1 47 5.1 6.1 44 6.7 74 55 —
SS(mg./L) 11 6 16 7 4 5 6 5 12 3 9 14 8 50LLF
B (me L) 0.264 0.564 0.245 0.188 0.476 0.452 0.326 0.314 0.365 0.267 0.520 0.567 0.379 —
FUEZFHER (mg L) 2.94 2.49 0.84 1.43 1.84 2.66 1.19 1.96 2.73 3.46 443 3.36 244 —
==} -

H EPES 487 58118 6H6H 7H5H 8H4H 9H6H 10828 | 11H18 | 12A18 | 1A108 2818 3818 = ..
= e i B i i i T s % ?% B B ] T |mmas
FE BN AR 10:20 10:20 10:05 10:00 10:10 10:40 10:10 10:00 10:00 10:10 10:50 10:20 — —
=@ (°C) 20.3 19.6 26.8 31.6 34.6 33.6 26.4 22.4 10.5 10.1 149 11.6 21.9 —
K& (°C) 19.5 22.4 23.1 27.2 30.4 29.8 254 21.0 16.0 13.5 14.4 13.7 214 —
BRE (cm) 80 55 30 50 90 70 65 90 75 >100 40 30 65 —
e [RERE | KEHKE |BKERE| KERE [BRERE| KEKE |BREER|BRERE| KERKE | KEHKE | KRER | KEER — —

- MIER | MIER | #ER | MIEER | MIER | MER | MR MEE MEE MR WMEE — —

H |pH 7.2 7.1 7.1 7.1 7.0 7.2 7.6 7.4 74 74 7.0 7.0 7.2 6.5~85

¥ DO (mg. L) 7.2 49 6.3 7.7 3.8 5.8 5.7 6.3 6.8 6.9 6.8 75 6.3 501 F
BOD (mg.”L) 1.9 1.8 47 25 2.1 2.3 1.0 25 2.0 15 1.2 2.2 2.3 50LLF
COD(mg.”L) 55 5.4 5.6 39 6.0 5.0 48 5.3 5.6 49 6.5 10 5.7 —
SS(mg.”L) 6 4 22 10 3 5 9 6 6 2 16 10 8 50LLF
LB (me /L) 0.409 0.664 0.342 0.233 0.589 0.367 0.403 0.400 0.492 0514 0.605 0.659 0.473 —
FUEZFHER (mg L) 1.63 1.97 0.85 0.54 0.89 0.63 0.49 0.93 0.94 1.90 2.72 351 1.42 —
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EsemizIll|
ih EEIES 4878 5118 6H6H 7H5H 8H4H 9H6H 10828 11818 1281H 1A10H 2H1H 3818 - ]
= |EE 5 B 5 £ B - B B " & B g | e |RERE
5 BB 11:05 11:05 10:40 10:30 10:45 11:07 10:46 10:40 10:25 10:50 11:20 10:50 — —
SR (°C) 20.8 21.7 25.9 30.8 37.6 32.6 26.5 22.8 11.4 10.8 16.9 13.3 22.6 —
K:E(°C) 20.1 219 22.7 26.9 32.3 29.7 25.8 22.0 17.3 15.2 16.7 14.8 22.1 —
BRE (cm) 64 90 25 71 >100 >100 85 >100 85 >100 55 30 75 —
e REHE [BREGE|BIGER| KGEE (BREER|BRKERE| KRERE |BRERE| KEEE |BRERE| KERKE | KERE — —
HIRR MIGER | MIIEER | MIER | i8R e WMER WMER B8 WER MR me |ma — —
K |pH 7.1 7.0 7.1 7.0 6.9 7.2 7.7 7.2 7.2 7.3 6.9 7.0 7.1 6.5~85
& [DO(mg. L) 75 6.3 7.2 6.7 5.9 6.4 6.8 5.9 6.7 6.9 6.6 7.8 6.7 500l
BOD(mg.“L) 2.7 1.8 5.3 14 2.1 15 1.3 16 1.6 1.7 1.6 26 2.1 50LLF
COD(mg.”L) 5.9 46 5.7 3.8 55 45 43 5.4 55 6.4 7.9 10 5.8 —
SS(mg.”L) 10 5 23 7 8 3 7 6 7 3 17 11 9 50LLF
B (me L) 0.403 0.370 0.405 0.256 0.439 0.341 0.345 0.545 0.795 0.629 0.835 0.956 0.527 —
FUEZFHER (mg L) 1.04 0.97 0.74 0.51 0.63 0.44 0.35 0.62 0.86 1.74 1.39 3.49 1.07 —
i)l
I .
fg an EPEIE 4)51%5 5)5151%15 eﬁéa 7%55 sﬁga 9%?5 10%25 11%15 12%15 1)%1%05 ZH%EI 32;;5 TiE |mmae
¥ BN B 8:50 8:40 8:50 8:45 9:00 8:47 9:00 8:45 8:45 8:50 8:55 8:50 — —
=@ (°C) 20.4 19.7 24.9 29.0 32.7 30.4 25.3 19.9 9.8 7.4 12.7 76 20.0 —
K& (°C) 18.0 19.7 20.3 235 26.7 26.0 20.7 18.8 10.7 8.2 11.3 9.1 17.8 —
BHE (cm) >100 >100 >100 >100 >100 >100 >100 >100 >100 >100 >100 15 93 —
e EigE) me Fig) e Eig) Fig) | EiqE) Fig) | wme |BIEEE — —
5 ma me |e |mE WTFKE |mE |mE me |E me |mE WMTFKE — —
” pH 7.6 7.8 7.6 75 75 7.7 8.0 7.9 7.8 8.0 7.8 7.4 7.7 6.5~85
= [DO(mg.~L) 8.0 7.7 8.6 7.8 8.6 8.3 95 8.6 9.8 10.5 9.9 9.4 8.9 500l
" BOD(mg.”L) 1.9 1.7 1.2 3.3 26 23 1.7 1.2 0.5 1.2 0.9 34 23 30LLTF
COD(mg.”L) 29 26 1.2 26 1.9 2.4 15 14 1.1 1.0 14 9.8 25 —
SS(mg.”L) 2 1 1 1 1 1 <1 1 1 1 1 52 5 25T
KERE B4 (MPN.~ 100mL) 1,700 11,000 13,000 160,000 6,300 11,000 24,000 1,700 4,900 1,700 1,700 >240,000 [ 39,750 —
KESE % (CFU.~100mL) 1,400 1,900 4,200 5,800 1,300 1,800 1,900 1,000 1,500 1,100 800 55,000 5800 [1,000LLTF
B (me /L) 0.005 0.010 0.023 0.015 0.006 0.015 0.006 0.015 0.007 <0.003 <0.003 0.046 0.013 —
FUE=THER(me L) | 0.09 0.09 _0.10 0.16 0.10 0.07 0.04 0.04 0.02 0.02 0.03 1.49 0.19 —
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2R A
ih 8. X{x 4878 58 6H6H 71H 8H4H 98 10828 111 12818 1H 2A1H 38 T4l
= [HE E — = — & — B — . — £ — -
3 HY B e 11:55 — 11:30 — 11:30 — 11:35 — 11:05 — 12:25 — —
SR (°C) 21.1 — 25.8 — 36.3 — 26.3 — 9.7 — 15.0 — 22.4
K:E(°C) 19.0 — 24.3 — 34.1 — 26.2 — 12.1 — 11.1 — 21.1
BRE (cm) 18 — 25 — 20 — 20 — 15 — 20 — 20
= |1 [REHZE — [RERFZE — [RERE — REHZRE — BERERE — BAIRERZE — —
% R BR — | — BR — WER — MER — WER — —
» [pH 8.8 — 9.1 — 9.1 — 9.2 — 9.3 — 9.3 — 9.1
st |[DO(mg L) 10.3 — 10.5 — 8.4 — 10.2 — 114 — 13.6 — 10.7
BOD (mg.“L) 6.9 — 46 — 46 — 42 — 45 — 5.4 — 5.0
COD(mg.” L) 14 — 10 — 13 — 15 — 15 — 14 — 14
SS(mg./L) 24 — 15 — 13 — 21 — 23 — 18 — 19
U EETEY > (me /L) 0.006 — <0.003 — <0.003 — <0.003 — 0.005 — <0.003 — 0.004
FUEZTHER(me /L) 0.16 — 0.03 — 0.08 — 0.03 — 0.02 — 0.26 — 0.10
FREARBERARC
Hh B X{& 4878 58 6H6H 718 8H4H 98 10828 118 12818 18 2H18 3R T
= [HE = — = — i — = — = — £ — -
PR B B fa 12:25 — 12:05 — 12:05 — 12:10 — 11:35 — 12:55 — —
=@ (°C) 21.6 — 24.6 — 36.7 — 27.2 — 10.7 — 15.2 — 22.7
K& (°C) 18.7 — 21.9 — 32.1 — 250 — 1.1 — 10.0 — 19.8
7 [BRE (cm) 21 — 70 — 60 — 45 — 65 — 85 — 58
Hien RERE — | mRERE| — |ERERas  — RERE — RERE —  |mmERe]  — —
Blas EL] — [ mme | — | mms | — EL] — | mas | — ma — —
g [eH 7.9 — 74 — 7.6 — 7.9 — 7.7 — 78 — 7.7
gz |[DO(mg L) 9.0 — 6.6 — 78 — 8.0 — 7.9 — 11.0 — 8.4
, |BOD(mg L) 40 — 2.1 — 33 — 1.9 — 1.6 — 25 — 26
COD(mg.“L) 49 — 40 — 3.7 — 41 — 3.1 — 2.8 — 3.8
SS(mg./L) 10 — 5 — 6 — 8 — 6 — 4 — 7
U EETEY Y (me /L) <0.003 — <0.003 — <0.003 — <0.003 — 0.005 — <0.003 — 0.003
FUE=THER(me L) 0.11 — 0.12 — 0.09 — 0.05 — 0.13 — 0.08 — 0.10




